
8002 Parts List (Included Welding rod is not listed)

Image Qty Part No. and Description More Info

1 5003-01
Plastic Welding Rod Organizer

1 5003TC
Temperature Control Switch

1 6012-P
200W, 120V Element w/ US Plug

1 6020
Temperature Control Switch - 115/230V

1 6027HT
Standard Welding Tip

1 6031
Tear Drop Welding Tip

1 6049-02
Temperature Control Knob

2 6049-03
Flow control valve with micro-fine needle

https://www.polyvance.com/Rod-Organizer-Cases/5003-01/
https://www.polyvance.com/Rod-Organizer-Cases/5003-01/
https://www.polyvance.com/Airless-Welder-Parts-1/5003TC/
https://www.polyvance.com/Airless-Welder-Parts-1/5003TC/
https://www.polyvance.com/Airless-Welder-Parts-1/6012-P/
https://www.polyvance.com/Airless-Welder-Parts-1/6012-P/
https://www.polyvance.com/Airless-Welder-Parts-1/6020/
https://www.polyvance.com/Airless-Welder-Parts-1/6020/
https://www.polyvance.com/Airless-Welder-Parts-1/6027HT/
https://www.polyvance.com/Airless-Welder-Parts-1/6027HT/
https://www.polyvance.com/Airless-Welder-Parts-1/6031/
https://www.polyvance.com/Airless-Welder-Parts-1/6031/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-03/


1 6049-04
218 8A 250VAC Fuse

2 6049-05
1/4 in. tube X 10/32 Straight Fitting

2 6049-06
1/4 in. tube X 10/32 90-degree fitting

1 6049-07
Inlet Receptacle with Switch and Fuse

1 6050-NR1
Hot air all purpose tip

1 6052-16
Number 6 non-insulated ring terminal

10.5 6052-33
PUR tubing 1/4" Green

1 6053N2-03
Straight push-connect tube fitting

https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-03/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-07/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6049-07/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6050-NR1/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6050-NR1/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6052-16/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6052-16/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6052-33/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6052-33/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-03/


4 6053N2-04
90 deg push-connect tube fitting

1 6053N2-07
Three-way ball valve

2 6053N2-08
90 deg Bulkhead push-connect

1 6056-05
Air Manifold for Nitrogen Cart

1 6056-06
Power Strip for Nitrogen Cart

1 6056-07
Nitrogen Tank Regulator

1 6056-08
MIG cart for Nitrogen Welder

1 6056-11
1/4" Galvanized Pipe Plug

https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-03/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-07
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-07
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-08/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6053N2-08/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-06/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-06/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-07/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-07/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-08/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-08/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-11/


2 6056-12
6" Gray Wheel w/bearings - Assembly

2 6056-13
2" Gray Casters w/brake 1.5" brass ring stem

2 6056-14
Washers for cart

2 6056-15
1/2" Cap Nut Washer

1 6057-02
Flow Gauge, 0-25 lpm

1 6057-05
15A Snap-in receptical

1 6057-13
1/8"F NPT to 1/4" tube push connect fitting

2 6057-15
1/8" M NPT to 1/4" tube push-connect fitting

https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-11/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-12/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-12/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-13/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-13/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-14/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-14/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-15/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6056-15/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-05/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-13/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-13/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-15/


1 6057-17
Pressure Switch

1 6057-19
Runtee Fitting

4 6057-20
Rubber feet

10 6057-28
6 X 1/2" Hex washer head machine screw

4 6057-30
8 x3/4" phillips pan head sheet metal screw

8 6057-31
1/8" x 1/8" grip steel rivet

2 6057-33
10-24 Hex Nylock Nut

2 6057-34
10-24 x 1-3/4" Machine Screw

https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-15/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-17/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-17/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-19/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-19/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-20/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-20/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-28/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-28/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-30/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-30/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-31/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-31/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-33/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-33/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-34/


2 6057-35
10 x 1-1/4 Hex Head Screw

4 6057-37
1/4" AMP (M) QD connector

3 6057-38
1/4" AMP (F) QD connector

1 6057-39
Tube Connector 1/4" x 1.5mm orifice

1 6062ME
Hot Air Element - 550 watt

45 6066-09
1/4"-20 x 1/2" Hex Bolt / Zinc

45 6066-10
6 mm Flat Washer / Zinc

1 6066-30
Union Elbow

https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-34/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-35/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-35/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-37/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-37/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-38/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-38/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-39/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6057-39/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6062ME/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6062ME/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6066-09/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6066-09/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6066-10/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6066-10/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6066-30/


1 6085-11
Female 1/8NPT x 1/4 HOSE 90 deg fitting

1 6086-04
Straight 1/8" NPT x 4mm tube connector

1 6102-02
Quick release hose

1 6102-03
Bulkhead fitting for quick release hose

1 6102-04
Welder handle connector assembly

1 6124WB
Stainless wire brush

1 6145
Hand Seamer

1 6150-04
6x3/8 SS oval head screw

https://www.polyvance.com/Hot-Air-Welder-Parts-1/6066-30/
https://www.polyvance.com/Airless-Welder-Parts-1/6085-11/
https://www.polyvance.com/Airless-Welder-Parts-1/6085-11/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6086-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6086-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6102-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6102-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6102-03/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6102-03/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6102-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6102-04/
https://www.polyvance.com/Airless-Welder-Parts-1/6124WB/
https://www.polyvance.com/Airless-Welder-Parts-1/6124WB/
https://www.polyvance.com/Airless-Welder-Parts-1/6145/
https://www.polyvance.com/Airless-Welder-Parts-1/6145/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6150-04/


1 6150-06
Socket with Pins

2 6086-06
Female bullet connector

1 6151H-01
Quick Release Handle

1 6151H-02
4-40 x 3/16" Stainless Steel Set Screw

1 6175-01
Stainless steel barrel

1 6175-02
Brass nut for hot air barrel

1 6482
Aluminum Tape, 2" x 10 yd

1 CHAIN
Chains to secure nitrogen bottle

https://www.polyvance.com/Hot-Air-Welder-Parts-1/6150-04/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6150-06/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6150-06/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6086-06/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6086-06/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6151H-01/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6151H-01/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6151H-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6151H-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6175-01/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6175-01/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6175-02/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/6175-02/
https://www.polyvance.com/Aluminum-Tape-1/6482/
https://www.polyvance.com/Aluminum-Tape-1/6482/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/CHAIN/


1 CORD6-USA
USA Power Cord

1 LIGHT4
Green Indicator light, 12mm

1 NUT M6
Nut, Hex, 6-32,

2 RIV2
3/16 inch rivet

3 RIV2
1/4" SDS-84 Steel Blind Rivet

1
STUD
Grounding stud

https://www.polyvance.com/Hot-Air-Welder-Parts-1/CHAIN/
https://www.polyvance.com/Airless-Welder-Parts-1/CORD6-USA/
https://www.polyvance.com/Airless-Welder-Parts-1/CORD6-USA/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/LIGHT4/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/LIGHT4/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/NUT-M6/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/NUT-M6/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/RIV2/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/RIV2/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/RIV2/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/RIV2/
https://www.polyvance.com/Hot-Air-Welder-Parts-1/STUD/

